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Use Gauss's forward interpolation formula to

find the value of Jx)

forx = 30, given that: | [Jodhpur 18
! ; 21 25 29 33 37

) : 184708 17.8144 17.1070, 163432 155154 :
USICESENE RS ERANBE L e PO 3 £(41) BT 1/ 3 Iy,
Use Gauss's interpolation formuyla to find £(41) with the help of the
following data: | |

X : 30 35 40 45 50

i) 36782 29951 2400.1 18762 14163
ﬁqﬂmﬁ#ﬁvif»mqﬂm X=3.75W y &1 9 Fq
i,

Use Gauss's forward formula to find the value of y when x=3.75 from
the following table |

B N0 350 4000 4 50

y:

24145 22043 20225 18644 17262 - 16.047
[ Jodhpur 04; Bikaner 04, 17, 18; Raj. 15, 17)

AA20)=14, SR4)=32/28)=35 Fom £32)=40 2 T 7itg 3 F EN
TR BRI 5 £25)=33 21

Given that £20)=14 R24)=32 28)=35, £32)=40,show by
4Uss's formula that A25)=33 b

R | g s

. . l
D.erwe Gauss-forward and backward interpolation formUIt.ie 0£C en:|:
S:-n “rences. Hence of otherwise obtain striling's interpolation formula.

. OW the Paths of thege formulae in difference table. T @
T WA ER11936 & S sma .



Loy d formula to find the popum
= Use Gauss's Backwar X Year ]936
iven that ,
mwmflz G20 27 39
zaRl # (Population in Thousand) [Alwgy N
g fn gaM @ (Given that)
' J(2500)=111.803399;  /(12510)= 111848111,
it oed g4 o yeRfd Y fd (Show by Gauss's backwarg
formula that): .
J (12516)=111.874930; [Ajmer gy
. oo aIR A B ST ¥ A W AR gern A
| Discuss and compare Stirling’s and Bessel's formulae for interpolatio
: ARl & y(1.4171) @111
10. oM @ 3advH g g1 feferiad y
5 ! from the
Use Stirling's interpolation formula to compute y(1.4171) fro
followhgtable:
e 0% suflslhiis hli2 1.3 1.4
y: L1752 13357 15095 16984 19043
X: 1.5 1.6 1.7 1.8
s 21293 23756 2645, 29422 :
SR <L LR R p——
Use Stirling's formula to fing A1.22) from the following table
e R DR 1 4
f)' 0??.7 0‘??1 093204 096356 0.98545
- il sl WA XS
: 099749 : A5
12 giﬁnﬂam;:m o8 0g73gs

Va0 =512, y3g =439,y4o By I
T Vsp =243 rl
mﬁwmﬁﬁxﬁﬁm“._’ "qe, : [Sika 28
81 Where y, represents the nupy,q e e ) ), frofad 4
. LRl § ns at the age ,ryeafs |

|




—

g R ST

life table. Also use Bessel's formya.

3. & 8 (Given)
0= 0° S8 10°
an®= 00000 00875 0.1763
X 3 & tan 16°%T A1 gyq DI |
Use Stirling's formula to find the value of tan 160

4. ® B GF W s gy U3, B1 A

Use Stirling

[Udaipur 07, 17]
BIGE) T
's formula to find U3, from the following data -
Uy =14.035 Uy5=13.674 U3y =13257

u35=12.734 Ug0=12.089 uss=11.309  [Ajmer 05,08]
15.  XIeF ¥F §RT sife) Y11 9T B

- Use Stirling's formula to find Y11 from the following data :

Yo =3010, ys = 2710, y,, = 2285, Nis = 1860, y,, =1560,
16. 307 o arad grar 89

What is meant by central differences?

%ﬂaa-ﬁ-&mvia U] BT 3R IHD! TR | cos 23]
M 91 g |

Obtain Bessel's interpolation formula and use it to find the value of
Cos 23°,

T 3 TR P it  y,, 51 AR

Use Bessel's formula to find y,, from the following data :

Yu=2854; Y, =3162; Yo~ 3544; YT 922,
[Raj. 17; Ajmer 06, 08]

y @
m‘ﬁ (31eran Tt g=1) gmx=3.75$mﬁ*a'mﬁy
Sl : | = 3.75 from

3 UseBessel's formula (or Gauss formula) to find y for x =J.

5 v the followingtab]e;' ; j )

¥ PISEE N300 35 f4i0FT 4S e

Y 24145 2043 20225 18644 17262 16.

[Ajmer 15)

17.

18,

19,
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Use Simpson's '5' rule to evaluate I Y from the following data:

0

0246810121416
047912151483

[Udaipur 06; Bikaner 06]

]

1 3 1
Use Simpson's '5 and "o rule to evaluate:

1
d
o | [Bikaner 08, 12, Raj. 07)
S Reaferell # 9141 log 2 AT ) v ey

Compare the values of log,2 in the two cases,

'n'h.n--ﬂl— -
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2.613604 | 2. 0.9981
1.136 : 4. 0.692325
0.69315

98 ; T8 #IF =72.2 sRTed o grr =115
710 9 #Hrex 9. 1.2996

3.150723 11.(2) 0.9981 (b) 1.006
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